Adding Three One-Digit Numbers to 10

Circle the pairs of numbers that add up to 10,
then add the third number to make the total.
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Challenge: Can you use number bonds to 10 to make sets of &4 one-digut

numbers that total 207 How many different sets can you make?




Adding Three One-Digit Numbers - Which 3 Numbers?

Chooze 3 numbers which add to the total given. Write as a calculation.

Which 3 numberz add to 157
5761

= 15

Which 3 numbers odd to 207
[

= 20

Which 3 numberz zdd to 237
L6EED

- 23

Which 3 numbers add to 187
Ql1&ES

+ - = 15

Which 3 numbers cdd to 77
L&e231

-+ + -

Which 3 numbers odd to &7
235851

- T
+ -

Which 3 numbers add te 167
37812

. < =14

Which 3 numbers odd $o 137
I5795

= -

=13

Which 3 numbers add te 197
L6859

+ =19

Which 3 numbaerz add to 207
FLaE6E

- -

= 23

Which 3 numbarz add to0 117
385251

- -

=1

Which 3 numbarz add to 247
aTEHEDS

- 1)
+ - i

Which 3 numbers add to 127
31248451

=12

Which 3 numbers add to 227
TEZ206

- 22

Which 3 numbers add to 157
L2635

+ - = 15

Which 3 numbers add o 107
23413

+ -

=10

Which 3 numberz add #o0 177
658264

- -

=17

Which 3 numberz add o 207
673509

- -

= 20

Which 3 numberz add to 147
I5ETE L

+ * = &

Which 3 numberz add to 07
L3541

- -

-

Which 3 numberz add to 127

38125

+ - - J7

Challenge: using just 1, 2, 3, 4 and 5, find as many ways as possible of
adding 3 numbers to 8, 10 and 12.




Addition and Subtraction Facts

to 20 - Speed Test

See how long 1t takes you to complete all of
these or give yourself a set amount of time (say

5 mins) and see how many you can de.
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6+ 6 = g-6= g-3= 13
14+ 5= 2417 = 7T-4= 4+0 = 4-32=
@-7= 3I+9= 13-1= 20 -10 = 10-5=
2+11= 3+1= 1% -7 = 17+2= 2+3=
2+15= 3-2= g+3= 6 +4= 15-6=
7-3= MN+5= 8-5= T+8= G+ 6=
10 +10 = 18 -4 = I+ 4= 20 -19 = 4+ 9=
8-2= 10+0= 8+ 8= 1% +2= 7-2=
Ns1= 13-5= 17-2= Q-4 = 19 +1=
14 -1= 12-9 = I+ T= S+5= 15-2=
L
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